
Class:Class 6 Subject: Maths Topic:Measurement and Estimation

S.No Question Answer Options

1

The total cost of flooring a 
room at ₹ 8.50 sq m is ₹ 
510. If the length of the 
room is 8 m. Find its breadth 
__________ .

7.4 m

7.5 m

8.5 m

5.8 m

7.4 m

7.5 m

8.5 m

5.8 m

2

What is the maximum 
perimeter of a rectangle 
drawn on a square having 
squares of sizes 1 cm * 1 
cm, having area of 24 sq cm?

50 cm

28 cm

22 cm

20 cm

50 cm

28 cm

22 cm

20 cm
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3
Find the cost of fencing a 
square park of side 250 m at 
the rate of ₹ 20/m.

10000

20000

1000

2000000

10000

20000

1000

2000000

4
Solve : 35 km 700 m + 89 
km 650 m + 76 km = 
____________ km

Answer
____________

Answer
____________

5 Add : 4 km 420 m + 3 km 
299 m = 7 km 719 m

True

False

True

False
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Correct Answer is
1. Correct Ans option is 7.5 m
2. Correct Ans option is 50 cm
3. Correct Ans option is 20000
4. Correct Answer is 201.35
5. Correct Ans option is True
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